1. Whatis the standard form of
5x10+4x1+7x(1/10) + 2 x (1/100)?

. 54.72
B. 54.27



You are right! Go to next.



You are wrong! Try again.



2. Whatis the standard form of
6x10+1x1+4x(1/10) + 8 x(1/100)?

A) 61.84
B) 61.48



You are right! Go to next.



You are wrong! Try again.



3. What is the standard form of
2x10+9x1+3x(1/10) +4 x (1/100)?

A) 29.43
B) 29.34



You are right! Go to next.



You are wrong! Try again.



4. What is the standard form of
4x10+4x1+5x%x(1/10) +5 x (1/100)?

A) 44.55
B) 55.44



You are right! Go to next.



You are wrong! Try again.



5. What is the standard form of
1x10+9x1+7x(1/10) + 3 x (1/100)?
A) 19.73
B) 19.37



You are right!



You are wrong! Try again.



